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Que.1l Attempt the following.
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5. Reveérsal law for the transpose of a product is.......

(a)AB = BA (b)A = B (¢)(AB)! = A'B" (d)(AB)! = B1A!

6. If A and B are commute to each other, then the value of (A + B)*=......
(a)A? + AB + AB + B? (b)A% + 2AB + B? (c)A%? + B? (d)A? — 2AB + B?

2 Attempt the following(Any three)
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1. Evaluate lim (a — 2) tan(
T—a

log(sin 2
2. Evaluate limm
c—0 log(sm 13)

3. Define Submatrix with example.

4. Prove that (AB)? = (B)?(A)?
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a. If Az( L4 then find charactristic matrix and charactrestic equation.

Determine minor of matrix with example.

, o ae* — 2bcosx + 3ce™*
Que.3 Find a.b,c so that lim -
z—0 rsinz

OR

) . z(l+acosz) —bsinzx
Que.3 Find the values of a, b so that lim ( )

z—0 3
2 1- 2 -3 4
Que.d [A] If A-—( 1 1 4 > and B—( 3 ] 9
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B] If A=

DD =
[l & B ]

find Cy3 and Cis

OR
Que.4

;where P and Q are Hermitian matrices.

Que.5 State and prove Cayley -Hamilton theorem.

OR

Que.d If A:( ? _41 ) then show that AK:< i +K2K

number.

2
1 and B= 1 2 -1

—4K
1-2K

) Find 5A-2B

) if C=A+B then

Prove that Every square matrix can be expressed in one and only one way as P+iQ

) where K is any positive



